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O LBt=+=EH| 43,400
O BA2E==EH|
(25,0002 «13H 128 )*0.8 3,120
O ZetZelE) el 240,0002 *8H 1,920

_11_




SN HESsEY
o HYSYAH (HLSSNY)

el Jle 2 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O EUFRYU(ZSE =Z2AD|,2AHESD])
200,000& =154 3,000
O gxg 87729 U e
(100,000 * 1= )+(30,0002 *43] ) 220
O t=&2tX 20,000& x2&+12& 480
O SHEBXN(AEH=E) 200,000 25 400
O BEEHA 2 38 200,000& *2& 400
O MEFR=HI 15,000 x2E5 «12& 360
O 8ME8 HIE ¥ s 7
1,500,000& * 14 1,500
O E2 2 ol 32,000,0008! * 11 32,000
o 2g+y 9,780
O 2. &XH(E.2.258Y)
60,000& *1H +x121 7,260
O HESSEY 2INE/JE A =
70,000& *9Y x4 3] 2,520
© =&l 4,368
O EZ224Hl (7,000 *13H +54 %128 )x0.8 4,368
02 3524l 7,347 4,943 2,404
O 2222 % MA 1,225
O XS XA 115
A2 50,0002 *=1CH 50
- SYSEE 65,000 =1CH 65
O XNsx B8z (#HY, 0o, s, ) 850
832 450,000& = 10H 450
Bl 400,000& = 1CH 400
O INsSXHetBNEsEeEZ2 70,0003 x10H*23] 140
O Nsxt SEZAE 60,000 = 1CH =23/ 120
(ORPNE=FaR=1a:]| 6,122
O d83t=2 3,122,862& x1CH*0.8 2,499
O =& SE(10,000km0l Af)
4,527,669 x10H+0.8 3,623
202 04| 45,360 34,560 10,800
01 2LHOHI 45,360 34,560 10,800
O JI2HL=XHHI(LIIH &)
180,000& *21H x12& 45,360
203 R =&Y| 3,520 3,520 0
02 HRJAHH R =&Y 520 520 0
O HAIMLRF=A 40,000& =134 520
04 EANSHLRF=AH| 3,000 3,000 0
O BEAN2IHERF=AHY| 250,000& = 12& 3,000
204 &2~ A H| 1,800 1,800 0
01 SR AY| 1,800 1,800 0




2N HE=3EG
H: HH2IAH(HWE2SEY)

el JI=23Hl

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
FEEEEEEETT] 1,800
O 53 150,000& 1H 128 1,800




